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Round 3 Bonii





1.) Given a list of islands or island groups, identify the one that lies the furthest North and the one that lies furthest South, F5PE. (teams must identify which answer is north and which is south)





A.	 Sao Tome and Principe, the Azores, the Canary Islands, Madiera.  





 Answer:	Azores (N) and Sao Tome and Principe (S) 





B.	Celebes, Mindinao, Timor, Luzon





 Answer:	Luzon (N) and Timor (S)





C.	Martinique, Grenada, Jamaica, Guadeloupe





 Answer:	Jamaica (N) and Grenada (S)





2.) Identify the man from clues, 30-20-10.





A.	For 30: He was nicknamed 'El Pibe de oro' (the golden boy) by the children in the Villa Fiorita slums of his hometown, before he even joined a team.





B.	For 20: His long career saw him play with Barcelona, and Sevilla as well as 7 years in Naples, leading them to two Italian championships. Repeated drug problems made for an erratic career after 1991.  





C.	For 10: He led the argentine team to a 2-1 World Cup victory against England in 1986, scoring both goals including the infamous 'Hand of God' goal. 





 Answer:	Diego Armando Maradona





3.) Identify the musical form. 30-20-10-5





A.	For 30: It takes its name from a piece by Alessandro Grandi, and was soon adopted by Carissimi and his student, Scarlatti.





B.	For 20: The Italian version, standardized by Scarlatti, consisted of 2 or 3 arias linked by recitative, while the German version, originally used as the Lutheran equivalent to a catholic mass, and was popularized by Tunder, Buxtehude, and Bach.  





C.	For 10: J.C. Pepusch published six "English [ones]" while Beethoven wrote one on dying and the succession of emperors, and Shostakovich wrote patriotic "Soviet [ones]"





D.	For 5: Its name comes from the Italian for 'something that is sung'





Answer:	Cantata





4. Identify the war of the ancient world, from some of the battles that were fought during it, on a 15-10 basis.





A.	For 15: The siege of the Spanish town of Saguntum (the first battle of the war)





	For 10: Cannae, Zama





Answer:	The Second Punic War (prompt on 'Punic')





B.	For 10-Utica, Dyrrachium





	For 5-Pharsalus, the decisive battle of the war.





 Answer:	Wars of the First Triumvirate or the Great Roman Civil War





5. Identify these fathers of Greek Epic Heroes from clues, FTPE.





A.	 Odysseus's father, a character with his name features prominently in a Shakespearean tragedy.





Answer:	Laertes





B.	Mentioned in the first line of the Iliad, he is Achilles’ Father.  His wedding to Thetis saw the origin of the Trojan war.





 Answer:	Peleus





C.	This father of Ajax is often invoked to differentiate his great son from the lesser Ajax. 





 Answer:	Telamon





6.) Answer the following about a pair of poems FTPE. 





A.	The two poems are said to be "unavoidably locked...with each other" Both were written in 1645 and are the paeans of two men to their respective goddesses, Mirth, and Melancholia.  One is sometimes thought to represent the author's friend, Charles Diodati, and the other the author himself.  Identify these Two poems which take their names from the Italian for "The Merry man" and the "Brooding Man"





 Answer:	L'Allegro and Il Penseroso





B.	Identify the poet of "L'allegro" and "Il Penseroso"





 Answer:	John Milton





7.) Identify these plants for ten points each:





A.	This commonly-eaten nut is never sold in the shell in grocery stores, because the oil is highly toxic before roasting.





Answer:	cashews





B.	Mace is derived from the lining of this tropical plant.





Answer:	nutmeg





C.	This plant originates in Madagascar, but larger quantities are grown in Mexico. However, the main flavor component is easily synthesized and is very potent.





Answer:	vanilla





8.) Identify the following related questions, FTPE.





A.	Diptychs, Triptychs, Polyptychs differentiate between the number of panels they have.  Retables and Reredos are fixed types.   Italian examples generally featured a large central panel flanked with supporting panels and a predella along the bottom.   What is this Renaissance form of sacred art?





Answer:	altarpiece painting





B.	This altarpiece features a total of 12 panels including Adam, Eve, St. John, the Virgin Mary, God and the crowds of people witness to the birth of the 'Mystic Lamb'





 Answer:	Ghent Altarpiece (prompt on the "Mystic Lamb") by Jan Van Eyck





C.	This altarpiece contains three separate views depending on the position of the wings.   The first view shows the crucifixion, the second the annunciation, angle concert, and resurrection, and the last shows scenes of the life of Saint Anthony.  





 Answer:	Isenheim Altarpiece by Matthias Grunewald





9.) Answer the following questions about American labor for ten points each.





A.	This "detective with a camera" quit teaching in New York and started taking photographs of children at work for the National Child Labor Committee, which led to improved working conditions for children but did not bring him recognition until after his death.





Answer:	Lewis Hine





B.	This "miner's angel" was born in Ireland in 1830 and had her first contact with the labor movement through her husband. After he died, she moved to Chicago and began a lifelong career as a labor organizer, Socialist lecturer, and self-described hellraiser.





Answer:	Mary Harris "Mother" Jones (accept given name(s) or nickname)





C.	On May 4, 1886, a group of anarchists attempted to organize a demonstration in Chicago. Three thousand of the eighty thousand workers then on strike were present, but an unknown person threw a bomb that killed seven policemen. In the aftermath, four demonstrators were executed. What was this demonstration called?





Answer:	Haymarket riot





10.) FTP each, given a main character and author, name the Russian novel





A.	Cincinattus, Vladimir Nabokov





Answer:	Invitation to a Beheading





B.	D-503, Yevgeny Zamyatin





Answer:	We





C.	Raskolnikov, Fyodor Dostoyevsky





Answer:	Crime and Punishment





11.) Three of these things are a lot like the other. Three of these things are kind of the same. But one of these things is not like the other. And now it is time to play our game. Pick the odd one out for ten points each.





A.	Which of the following foods does not get its spicy flavor from capsaicin [KAP-say-ih-sin]: chile peppers, wasabi, paprika, or cayenne?





Answer:	wasabi





B.	Which of the following is not a name for Felis concolor: cougar, ocelot, mountain lion, puma?





Answer:	ocelot





C.	Which of the following institutions does not exist: the University of New Jersey, the University of the South, the University of Akron, or the University of the District of Columbia?





Answer:	University of New Jersey [The institution is called Rutgers, the State University of New Jersey.]





12.) Identify the following American authors for ten points each:





A.	This University of Wisconsin alumna wrote mysteries under the pseudonym Rosamond Smith, but is better known for novels such as Foxfire: Confessions of a Girl Gang and With Shuddering Fall.





Answer:	Joyce Carol Oates





B.	This woman wrote such books as Listen! The Wind, an account of travels with her aviator husband; and Gift from the Sea, an important proto-feminist work. She died in 2001 at the age of 94, having survived a turbulent marriage and the kidnapping and murder of her first child.





Answer:	Anne Morrow Lindbergh (accept either or both underlined part)





C.	This journalist wrote The History of the Standard Oil Company, biographies of Abraham Lincoln and Napoleon Bonaparte, corresponded with Margaret Sanger, but was still an opponent of women's suffrage.





Answer:	Ida Tarbell





13.) Identify the following superconductor terms for ten points each:





A.	According to the BCS theory, electrons moving through a crystal lattice cause deformations in the material known as this.





Answer:	phonons





B.	This sensitive magnetic field detector consists of a superconducting loop broken in two places by Josephson junctions.





Answer:	Superconducting QUantum Interference Device





C.	Below a certain strength, magnetic fields cannot enter a superconductor. What is the name for this phenomenon, often demostrated by showing a magnet levitating above a superconductor?





Answer:	Meissner effect





14. Identify the following religions from clues for ten points each:





A.	One if its authoritative texts is The Pearl of Great Price. The church's beliefs in proxy baptism motivate their interest in genealogy. The church claims eleven million believers worldwide and about six million in the U. S., mainly in the West.





Answer:	Church of Jesus Christ of Latter-Day Saints or LDS or Mormons





B.	The founder has been quoted as saying that the best way to make a million dollars would be to start a religion, and some say that is just what he did. The church's copious vocabulary includes words like "thetan," "clear," and "engram." Many high-profile believers are Hollywood celebrities.





Answer:	Scientology or Scientologists





C.	Founded in the 17th Century by George Fox as a splinter group of Puritanism, believers stress the "inner light" of the Divine over scriptural authority and are noted for unstructured services and a strong pacifist stance.





Answer:	Quakers or Society of Friends





15.)	Identify the following works by the same author FTPE.





A.	It begins "Somebody must have made a false accusation against Josef K., for he was arrested one morning without having done anything wrong."  The plot then follows Josef in his attempts to figure out his crime and to be released. 





 Answer:	The Trial (Der _Proceß_)





B.	This work, which later became the first chapter of 'Amerika,' is named for the worker on a ship that Karl Rossman befriends and tries to win better treatment for.  When he meets his rich Uncle Jacob, he abandons the blue collar worker.  





 Answer:	The Stoker (Der _Heizer_)





C.) A visitor is shown 'the Harrow', a machine which punishes a man by inscribing the commandment he has broken repeatedly all over his body.  The machine breaks down but not before an officer uses it to kill himself with the phrase 'BE JUST'





 Answer:	In the Penal Colony (_In der Strafkolonie_)





16. For given first order reaction A -> B  and second order reaction B -> C





A.	What is the general rate law for the first reaction?





Answer:	Rate=k*A





B.	What is the rate law for the second equation?





Answer:	Rate=k*B2





C.	Assuming the rate constants to be identical, at high concentrations of A and B, which reaction will dominate?





Answer:	B -> C, since  B squared is much larger than A





17. Name these important black scientists and engineers from clues FTPE:





A.	This Canadian-born mechanical engineer took his education in Scotland and moved to Detroit, where he invented an automatic lubrication system. Inspectors took to asking for it by his name, which became a byword for "the genuine article."





Answer:	Elijah McCoy





B.	This 18th-century surveyor and astronomer published one of the first almanacs in the newly independent United States and helped plan the city of Washington, D. C.





Answer:	Benjamin Banneker





C.	This graduate of the school that would become Iowa State University exhibited paintings at the 1893 World's Fair and later taught at Tuskegee Institute. However, he is most famous for the hundreds of plant-derived products he invented, usually using peanuts as a source material.





Answer:	George Washington Carver





18.) Your team must form a reduced Quidditch team. Each of you must play a different position. The positions are: Seeker, Keeper, Beater, and Chaser. You will receive five points for each player who correctly acts out and describes their position, five extra points for all correct, and five extra points if the Seeker properly ends the game. You will need props.





Answer:	The keeper protects the goal, the Seeker looks for the Golden Snitch (a very tiny ball with little wings),  The Seeker ends the game by finding the Golden Snitch. Beaters hit dangerous black iron balls called bludgers away from their teammates and towards opponents with a small bat.  Chasers try to get the quaffle into the goal.





19.)	Does genetics turn you on? Provide the following terms for ten points each:





A.	This term denotes a unit of three bases that codes for a single amino acid.





Answer:	codon





B.	This is a sequence of eukaryotic DNA that codes for a protein and is transcribed to mRNA.





Answer:	exon





C.	This is a combination of an operator and associated structural genes that turns itself on or off depending on conditions in the cell. _lac_ and _trp_ are examples.





Answer:	operon





20. Name the following cultural group, 30-20-10.





A.	For 30: The earliest members of this culture were called the Basketmakers and were predominantly agricultural and generally lived in rock shelters carved out of cliffs. 





B.	For 20: Later members of this group developed the apartment-style adobe housing still found in the area today at places such as Chaco Canyon. 





C.	For 10: They were the ancestors of the modern-day Puebloans, but their common name is Navajo for "ancient ones." 





Answer:	Anasazi (accept early Ancestral Puebloans)





21.) Bored enough when you eat breakfast to read the Nutrition Facts? Consider a 1 cup serving of the following cereals: Cheerios, Peanut Butter Cap'n Crunch, Lucky Charms, Wheaties with Raisins, Bart Simpson and Star Wars Episode II cereals. FTP each, 


A. Which has the most fat? 


Answer:	Bart Simpson


B. Which has the most calories?


Answer:	Wheaties with Raisins 


C. Which has the most sodium?


Answer:	Cheerios


